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Determine the required force P

needed to maintain equilibrium
of the scissors linkage when the

angle is 60 degrees. The spring

is unstretched when the angle is

30 degrees.
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Determine the angle for

1 B p_
2 gt BN equilibrium of the two-member
W, 0 _ <4 :
S linkage. Each member has a

Im. X 1m massoflOkg.
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75 mm

<— |75 mm —
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A couple M of magnitude 1.5kN - mis
applied to the crank of the engine system

shown. For-eaeh-of-thetwo posttions showr;

determine the force P required to hold the
system in equilibrium.
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